(ASSINGMENT)

Q1.

(a)

Multiple choice questions (1X5=5)

Which is not the agro-based industry?
Food processing industry  (b) sugar industry (c) petrochemical

Q2.paper industries are examples of.

(a)

Agro-based (b) Mineral based (c) Forest based(d) Marine based

Q3.Basket weaving fall in the category of

(a)

Q4.

Small-scale industry (b) cottage industry (c) Large scale industry
these

Which of the following is private sector industry?

Hindustan aeronautics limited (b) Tata iron and Steel industry
authority of India  (d) National thermal power corporation

. Why state owned industries called public sector industry?

Because they are established and run by private people
Because they are established and run by government
Bothaandb

None of these
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(d) all of these

(d) none of

(c) steel

Q6. Match the following (1X5=5)
Column A Column B
| Private sector industries (a) Maruti Udyog Ltd.

li public sector industries

(b) Anand milk union Ltd.

lii joint sector Industries (c) Basket-weaving

Iv Co-operative sector industries

(d) Tata Iron and Steel Industry

V cottage industries

(e) Hindustan Aeronautics Ltd.

Q7 What do you mean by Industrial system? Describe with examples.

Q8 what are the factors define the size of an industry?

1X3=3

1X3=3




Q9 i. Name the industry which is shown in the given picture? 1+2=3
ii. How these types of industries are different from other

Q10.If your friend want to become a entrepreneur what you will suggest him for the location of his
Industry? 1x3=3

Q11. What are the difference between large scale and small scale industry?
Q12. Describe the types of industry based on raw material

Q13. What is industrial system? Describe in your own words.

Q14. Which industry manufactures paper? Describe its features.

Q15.what are the difference between agro based and mineral based industry?



